
Start with the ANSWER PASSED TO YOU.

1. Reduce to the first, fifth, and sixth words of the answer.

2. Move the second letter forward four positions in the string.

3. Retweet! Change R to T.

4. From Fargo to Providence! Replace the postal abbreviation for the state Fargo is located in
with the postal abbreviation for the state Providence is located in.

5. Replace Y with the English spelling of the Greek letter associated with the ratio of the
circumference of a circle and its diameter.

6. Eye see you! Delete any Is.

7. Inside Saskatoon. Put the entire string inside the postal abbreviation for Saskatchewan.
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123456789 = ANSWER PASSED BACK TO YOU

# 4 5 6
9 6 2 7 #

2 5 # 4 8

2 8 1
1 # 9 7 2

3 2 9

9 8 7 4
7 5 4 8

# 1 7 2
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